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The Sri Venkateswara National Park is located
in which state ?

Kerala
B) \ Karnataka
© ndhra Pradesh
(D) Himachal Pradesh

\x

2. The languagé‘pf discourses of Gautama Buddha
was :

(A) Bhojpuri

(By Pali
(C) Magadhi (D) Sanskrit
—
3.  The element common td‘gll acids is :
(A) Carbon (ﬁ*x Hydrogen
(C) Sulphur (D)

4.  Who wrote ‘War and Peace’ ?
(A)
B)
©
()

Leo Tolstoy
Mahatma Gandhi
Charles Dickens
Kipling

5. In a certain code. if ‘GRANT is written as
‘UOBSH’ and ‘PRIDE’ as ‘E£JSQ’, then how
could ‘SOLD’ be written ?

(A) TPME
(Cy ETPM

) CKNR
(D) EMPT

oy as the son of the daughter
er uncle. The boy is girl’s

6. A girlintroduced
of the father o

(A) (B) Son
(€ D) Son-in-law
1. Comp)ete the series :

DHE, PTX, BFJ., ?
KOG
NRV

CGM
OIS

(B)
D)
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(D)

At Ahevear TT o forg 79 ¥ fem,R?

@) = /

B) wARH /’/

© T ya

D) Tear=e wew /

3 T Sl

(B) U
D) §Ha
(B) EEGH
(D) i

‘War and Peace’ g fomgt €2
(A)
(B)
©

A e
TR TR

el fea=g
fepufetn

TH T 1 ¥ ‘GRANT &1 ‘UOBSH’ 441 ‘PRIDE’
T ‘FEJSQ forar 9 §, 9 ‘SOLD = 8 feren
S ?

A) TPME (B) CKNR
( ETPM (@) EMPT
T TR} 1 UH gh o AW Sfwa F fua i 92
T 92 FNET ¥ IRTT FAE1 ASH TEHE HI

B)
(D)

sige H [ B

DHL, PTX, BFJ. ?
(A) KOG B) XGM
(C) NRV (D)

P.T.O.




10.

11.

12.

13.

14.

oose the word which best express the meaning
of t ord, ‘Adoration’ :

(A) Hate
(¢ Calm

(B) Love
Anger

Find the correctly spelt word :
(A) Persaverance (BY Persvarance
(C) Perseverance (D) Parsever

Fill in the blank with right

The choserrtor construction of the
building is in thg€art of the city.

(A) (B) slight

(C) D) site

Which of the following does not suggest a macro
approach for India ?

(A) Determining the GNP of India

(B) Finding the causes of failure of X and Co.
(C) Identifying the causes of inflation in India
(D) None of the above

In which economic system all the means of
production are owned and controlled by private
individuals for profit ?

(A) Socialism (B)
(C) Mixed economy (D)

Capitalism
All of the above

In case of an inferior good, the income elasticity
of demand is :

(A) Positive B)
(C) Negative ()]

Zero

Infinite

The consumer is in equilibrium when the
following condition is satisfied :

MU, P,
@» MU, P
MU, P,
MU, Py

® MU P
MU, P,
MU, _B

© MU P
y y

(DY None of the above
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12,

13.

14.

‘Adoration’ YIsg &I 955 314
(A) Hate B) Love
(© Calm (D) Anger

A TR A
(A) Persaverance (B)
(C) Perseverance D)

Persvarance
Parseverance

L]

@ % foad frefafen § @ 9 gufe gfesm =

gAE T < ?

(A) YIRT % THT T AR F it

(B) USH UUE . T TAGC & RO T U@
S )

(C) 9 H &I JER & ROl 1 o=

(D) IR A §=E T8

HH G snfids gorelt ¥, SceA & 9t g A %
fod fasit =afaadl g wfie awn fafm e s
€2

(A) HURER] B)
() fafya sdemen (D)

FGIEL
IqUa gt
s P aeg wl qw H, A w s e ¥

(A) YNRHS B A
(C) RUTEHS ) I

TF I Sger o B ¥ e Frefatea v d@ge
T E

MU, P,
@ MU
MU, P,
MU, _ P,

® MU P
y Y

MU, _P,

© MU P
¥ y

(D) ST H QFE T



15.

16.

17,

18.

19,

By consumer surplus economists mean :
(A) The area inside the budget line

(B) The area between the average revenue and
marginal revenue curves

(C) The difference between the maximum
amount a person is willing to pay for a good
and its market price

(D) None of the above

Diminishing marginal returns implies :
(A) Decreasing average variable cost
{(B) Decreasing marginal cost
©) Increésing marginal cost

(D) Decreasing average fixed cost

With which of the following is concept of marginal
cost closely related ?

(A) Fixed cost (B) Variable cost
(C) Opportunity cost (D) Economic cost

In the short run, when the output of a firm
increases, its average fixed cost :

(A) decreases
(B) increases
(C) remains constant

(D) first declines and then rises

Suppose a firm is producing a level of output such
that MR > MC. What should be firm do to
maximize its profits ?

(A) The firm should do nothing
(B) The firm should hire less labour
(C) The firm should increase price

(D) The firm should increase cutput
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Iusitan =i s=a @ srdwnieEl w1 afima

(A) ¥ @ F o H 8

B) iHa AT awr WG A S F 7 &

(C) Uw =Aafdd & 95g & [ 991 A 91
Hftrrad U 991 9 S5 & & 09y 3=

(D) W § Y FE

T Hwia wiawa 9 aed €

(A v g sied TitedEe A

(B) it gE diwiq @
(©) et g€ Hivia arme
(D) =t g8 oitga e

=1 A 4 F-T divia ar[ ) sy § e

w9 9 Haifyq & ?
(A) TR EFE (B) fEd=eid wmmE

(C) AW @F[ D) nfds

YR A9 G 1 IR g 8, TH shea
e =g

(A wedt ¥
(B) =M §
(C) 99H et ¥

(D) IR Hedt § agn 9 ¥ s §1

A 6 % w1 SERT & @ W SR W @l e
MR >MC %1 %5 &l $797 &l 1 sigH ) 91
el ?

(A) TH T FB T wN =)
(B) WH I W FW WA G |
(C) R F T SQMT = |

(D) & T URA TG A6 |

P.T.O.



20.

21.

22

23.

24.

25.

All of the following are characteristics of a
monopoly except :

(A) There is a single firm
B) The firm is a price taker
(C)  The firm produces a unique product

(D) The existence of some advertising

Liquidity preference theory of Interest was
propounded by

(A) Kmght (B)
(C) Pigou (D)

Keynes
Walker

Net National Product at factor cost is :
(A) Equal to National Income

(B) Less than National Income

(C)  More than National Income

(D) Sometimes [.ess than National Income and
sometimes more than it

1s the apex bank for agriculture credit

n India.
(A) RBI (B) SIDBI
(C) NABARD (D) ICICI

Commercial Banks in India was nationahised in
1969 becausge :

(A) There was Urban bias
(B) Agriculture sector was neglected

(C) There was concentration of economic
power

(D) All of the above

Who is the official “Lender of last resort” in
India ?
(A) SBI (B) PNB

(C) RBI (D) OBC
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26.

frafafas @t wfumr #t fokman €, faam
(A)  TH FH A R

(B) w4 gea wiens g1

© ¥ T g TR 1 I R
(D) Fo fagrm &1 fawmrm €

TS 1 e gHeTh fagia B0 Sfaurfea
forar mar o ’

(A) TR B) HH
(C) dh (D) df

I A W S T KO8 ¢

(A) TSI 34 & TR

(B) UG 9 W %Y

(C) XM I W Al

(D) Fo IR TN 5@ A 9 4 F9 TN T8/

Afyeh
T R F1 9 % ford vid o €
(A) RBI (B) SIDBI
(C) NABARD M) IcICl

1969 & wiw # =ATafies ol 1 UiaeRw fhm T
o7 i

(A) ST IR SR A

(B) Y & H T fepan T om
() aftie w1 @ 9

D) IR 9

R # aAftreniie w9 | ' sifam soer” S 2
(A) SBI (B)
(C) RBI D)

PNB
OBC



26.

27.

28,

29.

30.

; refers to that portion of total deposits
of a commercial bank which it has to keep with
RBI in the form of cash reserves.

{A) Cash Reserve Ratio

(B) Statutory Liquid Reserve Ratio
(C©) Bank Rate

(D) Repo Rate

In order to control credit in the economy, the RBI
may :

(A} Buy securities in the open market
(B) Sell securities in the open market
(C} Reduce CRR

(D) Reduce Bank Rate

Which of the following bank services is not a part
of e-banking ?

(A)  Online banking
(B) Mobile banking
€ AT™

(D) None of the above

Which of the following statements is correct ?

(A) The tertiary sector contributes the
maximum to the GDP

(B) Indiais basically a socialist economy

(C) The distribution of income and wealth is
quite equitable

(D) None of the above

The share of agriculture in India's National
Income has over years.

(A) remained constant
{B) decreased
(C) increased

(D) first decreased and then increased
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R S K FA A H TS WM
FAT & SN 30 TS Y % T H 9Ra o 9% %
e T S R

(A) TH HIVUR

(B) duife el HIEHIE
© T

O WX

sreferawe § 9@ fEa & wRd el o 95
(d) o I § wlasfa w9 wE 9ifed
B) T o=’ F ufasifoat faspa w1 =fed |
(C) < HINTER HH HC IMed )

(D) S T HH FE Te |

frefafea & 4 - d% A1 $-fdm &1 am 77
??

(A) & o ST

(B) WA S

© TIdw

D) 3 T Y PE T

frafafas suEi § A SR-w o &2

(A) TS & HeheT TN SR T ey ARRH

2
(B) I 90 ¥ q T GASER! Srefoqawe

(©) o e Geafd 1 femto wequl ®9 § =rifaa
g1

D) IFH | BE T

Trod 3o 6l # s it U e Fi = e

|
@) fria fer @

(B) FHHEA R
© s@RI

D) Te& T 991 fH wQl )
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31.

32.

33.

34.

35.

36.

Mahalanobis model stressed upon the
establishment of :

(A) Consumer goods industries
(B) Export oriented industries
(C)  Agro based industries

(D) Capital and basic goods industries

Which of the following has resulted in failure to
achieve targets of industrial production ?

(A) Poor planning
(B) Power, finance and labour problems
(C) Technical complications

(D) All of the above

Which year i1s known as year of great divide for
India’s population ?

1981
2001

A 1921 (B)
(€ 1991 D)

The birth rate in India is high because of :
(A) Pre dominance of agriculture

(B) Slow urbanisation

(C) High incidence of poverty

(D) All of the above

SJSRY stands by :

(A) Swaran Jayanti Shahari Rozgar Yojana
(B) Swaran Jeevan Sudhar Rashtriya Yojana
(C) SampoornaJeevan Shahari Rozgar Yojana

(D) None of the above

Unemployment may result when
some workers are temporarily out of work while
changing job.

(A) Cyclical (B)
(C) Frictional ()]

Voluntary

Seasonal
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TRIEAIEIY TS $ T R 96 3 ¢
&) s R T
® Fraf s=sgE sEm

() T s e

(D) YSITE 99T SMRYE g ST

e 1 Q e woraey AT 39T ¥ aedl
F WG FA W SHE W ?

(A FHeR fFrEeE

® o=, foa qo o= guend
(C) kil Sifeerand

(D) Y 9

YA 6 SEE & ol S19-a1 9d 9e@ fawem
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(©) 1991 (D) 2001
WA § o1 g S § i

()  FY H wuE@

(B) i vyl

(C) st %} 3= SATIHA

D) S 94t

SISRY @ a1fdyurg 2

(A) U SER weh JR Fe
(B) Ul Sie GUR U IS
(©  Tvgel i Il USTIR e
(D) e | 8 i T
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i e 1 9 w19 4 I I ¥ Setw =
e TR B

(Ay Ha (B)
(©) wiadureTs )

wfesw
Aot



37.

88.

89,

40.

41,

42,

When prices are falling continuously, the
phenomenon is called

(A) Inflation

(B) Deflation
(C) Stagflation
(D) Reflation

is the difference between total

receipts and total expenditure.
(A) Budget deficit (B) Fiscal deficit
(C) Revenue deficit (D) Capital deficit

Sex ratio refers to the numbers of females per

males.
(A) 100
B) 300
(C) 1000

(D) None of the above

At present only industries are

reserved for the public sector.

@A) 5 ® 7

<©. 8 O 3

Fiscal Policy means :

(A) Policy relating to money and banking in a
country

(B) Policy relating to public revenue and public
expenditure

(C) Policy relating to non-banking financial
institutions

(D) None of the above

WTO comes into existence on :
Ay 1-1-1995 ®) 1-4-1995
(C) 1-6-1995 D) 1-9-1995
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e ¥ FRR w2 @ 9, 92 Feomt
&) T wHR

(B) TR AT

(© TR wifa st w9

@) T TR whfa

T Wies qd o1 =94 & 9 AR B
YT H1el

Ysft |t

(A) S g (B)

(C) TS wel D)

feim arqam wfa Nl W Hfgensil i e
) e A &1

(A) 100

(B) 300

(C) 1000

O IR HAPE T

EGLICR:E T
IRfar ®1

A) 5 ® 7
€ 8 D 3

T et 89 % el

U ifa § afwm ®

(A) Wﬁﬁgmﬁﬁnﬁﬁa‘ﬁma’rﬁ
(B)  ARSI-eh WA A1 WIS o4 | Waifra Hif
(©) -3k foaeita et | weifva Hifa |
D) W H | P T

fava =R deq afa= d ama -
(A) 1-1-1995 (B) 1-4-1995
(C) 1-6-1995 ®) 1-9-1995

P.T.O.




43. World Bank was founded in __ at
(A) 1940, New York
(B) 1945, Geneva
(C) 1945, Paris
(D} 1945, Bretton Woods
44. Major financial functions are :
(A) Investment decisions
(B) Financing decisions
(C) Dividend decisions
(D)  All of the above
45.  Short term source of finance are :
(A) Trade credit (B) Bank overdraft
(C©) Cashecredit (DY All of the above
46. Over capitalisation means :
(A) more use of capitél funds
(B) more use of debt funds
(C) equal proportion of debt and equity funds
(D) None of the above
47. Criterion of accepting proposal under Present
Value (PV) method is :
{(A) PV >[nitial investment
(B) PV <Initial investment
(C) PV =Initial investment
(D) None of the above
48, Capital structure means :
(A) Owned capital + Long term debts
(B) Net worth + Long term liabilities
(C) Equityshare +Preference share + Retained
earnings + Long term debts
(D) All of the above
09-EAFM
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48.

44.

45.

46.
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48.

favg d& # R ifa fofar
|

(A) 1940, =gdrF

(B) 1945, 74T

©) 1945 =

(D) 1945, WA IgH

T&{ﬁ?ﬂﬂm%:

(A TafEm fofg

®) fa<ita fofa

(©) =y fvE

D) Iogw af

foa F STegHTel Tid ©

(A) SRS dr" ® ¥ Afufaed
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(A)  gSH e 1 Iy 39Em

(B) U &S &1 At IuFw

(C)  7RUI A1 Wl <IN 1 M I
O SR T Y HE T

Faa g (PV) fafy & e waR @ iaR F3 @
A TS E

(A) PV >uifiw fawm

B) PV <wifus faw

(C) PV =yrfws Fam

(D) S ¥ Y HE T

ot @ v
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®) Fraa ge + S Sifae
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49.

50.

61.

b2.

53.

b4.

If the currént ratio is 3 : 1 and the net working
capital is ¥ 50,000, the current assets will be :

(A) T 75.000 (B) ¥50.000

(C) T40.000 (D T30.000

If P/V ratio is 25%, sales T 1,20,000 and fixed
costs T 15,000, amount of profit will be :

A 12500 T 15.000

(€

B

T 14,000 (D) <13.500

Total Assets ¥ 1,10.000, Fixed Assets T 50,000.
Capital employed ¥ 90,000. There are no long
term investments. Calculate current Ratio :

4 22:1 B) 18:1

(C) 3:1 D 1:1

A company issues 1.00,000 equity shares of T 10
each. The company has earned a profit of
T 5,00,000 after tax. If market price of these
shares is ¥ 25, the cost of capital will be ;

(4)
©

10% B 15%

18% D) 20%

Annual consumption of material 50,000 units,
cost of placing an order is T 20 and carrying cost
per unit is 50 paise per year, then what will be
EOQ?

(A
©

4.000 units 2 000 umts

(B)

1,000 units (D) 500 units

Which of the following element is not associated
with the “Bharat Nirman” Programme started
for rural infrastructure development ?

(A) Rural Banking

(B) Rural Housing

(©) Rural Telephony
(D) Rural electrification

09-EAFM
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AT S AT 3 : 1 7o Y& Frwie g5 2 50,000
¢, =] weafaai B
(A)  75.000
(©)  T40.000

®
()

¥ 50,000
¥ 30,000

Ifg TN \ET STUE 25% ¥, Tl T 1,20,000 @

TE AT T 15,000 =019 1 Tf¥ g0d
(A  T12.500 B) ¥15.000
(©) 714,000 M) 713,500

Fa weafaa T 1,10,000 w&rE Fiadi T 50,000
s gSit T 90,000 1 e oW =& §)

9], ST Rt 0T iy
a 22:1 ®) 18:1
€ 3:1 ™ 1:1

T FAT T 10 TAF & 1,00,000 F9ar 3w fifaa
FT | FE A FLIYEE T 5,00,000 7 @04 i
fopm &1 A% T oiEl 7 WIEIR TEd T 25 §, St 6
A BN
A 10%
© 18%

15%
20%

B
)

it S anfiish S9NRT 50,000 TSI, TH W 3
H AN % 20 1 Wi THE GO B AR 60 U5
wfeed &, 99 e andw Ao onit

(A) 4.000%PEd  (B) 2,000 THEA
(© 1,000 3HET @) 500 THEAI

ﬁwﬁﬁaﬁq-mmmmmﬁﬁm%
ferd wrtw o T e Foefor* <hrdish | T g1
T e?

o S
THIYT I
TrtoT AR

7o fergeten o

A)
B)
©
D)

P.T.O.



55.

56.

57.

68.

59.

60.

Pradhan Mantri Gram Sadak Yojna was started
in

A
(8))

1995 1998

2000

B)
(D) 2012

Which of the following is not a cause of
drought ?

A
B
©
D)

Excessive deforestation
Lack of irrigation facilities
Sufficient electrification

All of the above

PMGSY was started by :
(A) Rajeev Gandhi

(B) Atal Bihari Vajﬁayee
(C) Man Mohan Singh
(D) Narendra Modi

Which of the following is the advantages of
cooperation ?

GV
®)
©
)

End of speculation
Helpful in capital formation
Balanced Growth

All of the above

Land Development Banks provide
term loan to farmers.

{A) Short
(B) Long
(C) Both (A)and (B)
D)

None of the above

Indra Gandhi Paryavaran Puraskar was started
in the year

A)
©

1969 (B) 1985

1987 D) 199

09-EAFM
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(A)
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®)
(©)
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7 Hied foe

R W@
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©)
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frafafaa § @S- Teeifa &1 2
{A)
(B)
©
(D)

e & 34

isft fmin § wgae
qfea faag

g w+ft

offty frsprg e feraii =61 I B TR
W ¥

4)
(B)
(©)
)

HEq

e

(A) 3 (B) I

I § | g T
3= it waferw R o # uRy
Topan T &My

(A) 1969
(Cy 1987

1985
1995

®
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61.

62.

63.

64.

66.

66.

WhicH'of the following is a similarity between
socialism and cooperation ?

(A) In favour of capitalism
(B) Similar objectives
(C) Start of class conflict

(D) None of the above

Which of the following is a objective of rural
development ?

(A) Removal of poverty
(B) Rise in standard of iving
(C) Removal of unemployment

(D) Al of the above

The concept of performance budgeting was first
time used in )

(A) Britain ®B)
(C) China D)

India

USA

The process of preparing and using budgets to
achieve management objectives is called :
(A) Budget (B) Budgeting

(C) Trial Balance (D) All of the above

Which of the following is a consolidated summary

of all the functional budgets ?
(A) Sales (B) Flexible
(C) Master (D) Cash
Material usage variance is calculated as :
(A) MUV=(SQ-AQ)xAP

(B) MUV=(SQ-AQ)XSP

() MUV=(AQ-SQ)XAP

D) MUV=(AQ-SQ)xSP

09-EAFM

61.

62,

63.

64,

65.

66.

frefafaa & @ SF- ueER a9 geafa %
HYg GHAAT 8 2

&) YIER F U H
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(D) 9i= § W FE 7

frefafes § @ SF-w1 wo frm wrRE i ?
(A) TS Y EITa

(B) WI-ued & W H fe

(C) IS I wwifa

(D) ST |t

froae swifen &l sraum weelt AR ____ H
IR T T

@ i B) WR@

© ™ (D) HgF T3 FREH

TS R F WD T B T TR FA 0

I7EM FA H yiwa ) Fea €
(A) T B) =
(C) Teae (D) SRF T

ﬁmﬁmﬁﬁaﬁa—mwmaﬁmm
qiq e ?

a) fawa (B) ¥RR
(C) WRX D) I3
IRl A fEET Y e 6 A

(A) MUV=(SQ-AQ)xAP
(B) MUV=(SQ-AQxSP
(C) MUV=(AQ-SQ)xAP
(D) MUV=(AQ-SQ) xSP
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67. When actual cost is higher than standard cost, it
" iscalled:
(A) Favourable variance
(B Unfavourahle variance
{C) Both(A)and (B)
(D) None of the above
68. Which of the following is not included in selling
and distribution budget ?
{A) Direct selling expenses
(B) Distribution expenses
(C) Administration expenses
(D) Publicity expenses
69, is that portion of labour cost variance
which s due to the difference between standard
labour hours specified for actual output and
actual labour hours worked.
(A) Labour rate variance
(B) Idle time variance
(C) Labour yield variance
(D) Labour efficiency variance
70. If safety stock is added in Economic Order
Quantity, it shows level of inventory.
(4) Maximum
(B) Minimum
(Cy Reorder point
(D) None of the above
-00o0-
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67.

68.

69.

70,

& Freatas et Yo o § ifies §, 98 s
T

(A FPHA fa=r
®) vfaska fa=rm
© (AT (B) ST
(D) 3T H | FE A

Frerfafea 8} SH-m oy v o s § it
T foran T ?

(A) vIY fawd =g

®) faao =g

(C) wemaf =g

(D) IR ]
oW rTa R & Y WP § ) e
A F e Tfdse wama gm = o = fRd ™
At 99 U % 7o Al % FRO R

A) 7\ < o=

(B) =g g fawm

(C) & Irure farerw

D) oH FEFIEA foer

afy snfife TRy A H Qe Wy S 1, W%

WY wR g E

(a) Hfgman

B) A

© s fayg

(D) IR T/ HE T
-00o0-
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